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Segment 
(phonetics/phonology) 

An Animated and Narrated Glossary of 

Terms used in Linguistics 

presents 
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Consonants and Vowels 
Segment: 

 Individual speech sounds that make up a 

syllable 

Two kinds of segments: 

 Consonants and Vowels 

 

Segmentation is “influenced by knowledge of 

where linguistically significant changes in sound 

can be made”. 

Ashby and Maidment (2005:7)  

IPA (1999:5)  
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English 

Ladefoged in IPA (1999:40)  
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Articulatory Gestures 

[t]: tip of tongue comes into 

contact with alveolar 

ridge. No airflow through 

mouth or nose. Vocal 

folds do not vibrate. 

 

[]: front of tongue comes 

close to the post-alveolar 

area. Airflows noisily out 

of the mouth. Vocal folds 

do not vibrate. 
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Articulatory Gestures 

[t]: 
i. Top surface of tip of tongue comes into 

contact with the postalveolar area 

blocking all airflow through the mouth. 

ii. The contact in (i) is broken to allow air to 

flow noisily out of the mouth. 

 
(cf. [t] and [] as a sequence) 
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Segment is … 

• … not a singular state of configuration of 

the articulators 

• … not a “single” speech sound. 

 note that there are languages where [mb], [nd], 

[pf], [ph] … are singular segments 
(contra Ashby and Maidment 2005:7, cited earlier) 
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Sense of isochrony 

But we get the sense that 

 

 [t] = [] = [t] as single units of linguistic speech 

 [d] = [] = [d] as single units of linguistic speech 
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Segment as a temporal unit 
a deer azure a jeer 

[d] = 0.0761s [d] = 0.1494s [] = 0.0849s 

Isochrony of segments is not physically real, but is psychological. 

Note [d] = 0.0761s + [] = 0.0849s  [d] = 0.1494s, but [d] is longest  

Note: Length of segments differ across individuals. 
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Segment as a temporal unit 

 [hou ta] “good at fighting” [hou sa] “easy to sprinkle” [hou tsa] “lousy” 

[t] = 0.1093s [ts] = 0.1403s [s] = 0.1314s 

Example from Cantonese 

Note [t] = 0.1093s + [s] = 0.1314s  [ts] = 0.1403s, but [ts] is longest  
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Acoustic analysis indicates that 

i. length of segments may be different 

ii. complex segments are made up of multiple 
articulatory gestures  

iii. length of complex segments cannot be simply 
calculated from adding the time of segments 
corresponding to the component gestures 

 

We need an explanation for the feeling of isochrony of 
segments, i.e. why are simple and complex segments 
perceived as similar units? 
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Segment is … 

• … an abstract phonological unit of time 

perceived by the speaker of language X. 

• Within that perceived phonological unit of time, 

one or more articulatory gestures may be made. 

 

For example, 

 [f], [v], [t], [d], … are segments in English 

 [ts], [tsh], [p], [ph], … are segments in Cantonese 

 [mb], [nd], … are segments in Kikuyu 
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Segment and Phoneme 
• segment = phoneme ? (potentially IPA 1999:5) 

Example from English 

 /p/  [ph] when it is the singular onset of a syllable 
carrying primary stress. 

 [p] and [ph] are the same phoneme. 

 /p/ in “rapid” and “rapidity” sound different. 

 Either: 

 [p] and [ph] are 

 i.   different segments, same phoneme (segment  phoneme) 

 ii.  different phones, same segment (segment = phoneme, possible) 

 iii. different phones, same phoneme (segment = phoneme, possible) 
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The End 
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